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Candidates shall note that each question will be
multilingual, viz., in English/ Assamese/Bengali/
Bodo/ Hindi medium, for their ready reference. In case of
any discrepancy or confusion in the medium/ version,
the English version will be considered as

) the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION—A / 31t / 3—1 / F—argmit / H—amm
Choose the correct answer - 1x45=45
ua T A e
W% Taal AR 918 -
M ) ae’
T IW ﬂﬁq :

1. Electrical appliances that ha\_}c___ ;nctal body are generally

connected to the earthing wire What is the reason to earth
the wire?

q1$3 WWWWWﬁ—HWﬁWWﬂW@uW
AR TR R

153 (T STITATSs G-I Bq e 41 20 1 o B
AR R el B 2 |

TRE T-YIR @R SR L

uTgstt ¥ a7 e wiftel F aTrE: sEtEa @/l ¥ e S 2
Mﬁmwmﬁgmwv (0 |
(@) - To prevent the excess of current / wfefie e efearm az /
feRe fge ﬁm«ﬂjmﬁﬁamﬁ%ﬂ/
Lo o & sl ) U & R
(b) To prevent the leakage of current / e sy @R T/
e s Qe = / Hifeera st rafy Fenfy e /
foggq umo % fromm 1 9 ¥ i
(c) To prevent the extra current to the appliances / STRERE
Tfefe e 2RI T AT / AECS S Re smza
R & / GA-AERRW FiE HiferE aen SEyEah AT /
BIIRE) T 31ffeh fagq wmo =1 I $ Ry
(d) To prevent high resistance tf)the appliances / SRARA
T~ 2Af STy FRT A1 / SEes Tw-cany ofecany T W=
A1- TR - e e @) aram
A 7 I=1-3hE @ da ¥ Ry

2. The device used for producing éleptric current is called

(AfeT o1z Teom 91 Syl
e ez Teom T fstons
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T 2R Aafem )
e v 3 ) A s ) e Ol

(a) motor/ﬁﬁﬂﬂiﬂ/ﬂﬁﬂﬁ{ﬂ/ﬁaéﬂmm/ﬁm FEI{
(b) ammeter/ﬂﬁﬁﬁ@ﬁ@/wwwglmwm/m
(c) galvanometer / (5FSTREA @@ 21 [ sTETSIEfvE 7= 2 /

N firen A s / AeAnfe
(d) gcncratorfmmwlmﬁiﬂ/wwm/aﬁﬁ

The refractive indices of four mediums P, Q R, Sare 123, 15,

1-25 and 2 respectively. Through which medium, the speed of
light is maximum?

SIRG! T P, Q, R, S (vIw AfPWIT W 123, 145, 125 AqF 2.
(RTD! TS (2 TS S5 27 2

BRI T P, Q, R, S-9q (%ea 2feTans wew 123, 1'5, 125 @R 2.
P TRHTS WA TS Ndm 279 2

s f&sit P, O, R, S T dvmm fifteea fmmn wiRd 1423, 1-5, 1-25
IR 2. 7 fasitarme Gty @ qifmar smE?

SR R P, Q, R, S IqadAiE wHM: 123, 1-5, 125 3k 2 31 fra
ATy § WeHTeT I =16 gad 24 2efl?

(@) P (b) Q (¢) R d) S

4. Which option justifies that the sun appears red at sunrise and
sunset?

C1eich! Rl s ur e STaws @ferh] 81 o[RS A 2
@ FResiba Tt S @R STHEa S S 3T (m 2
?‘mﬂmwaﬁ@mmmwmmﬁmwﬁm
?
x%ﬁ%ﬂq-mﬁm@maﬁn@m%w@%mmﬁ%ww
7
(a) Red colour is scattered highest by the atmosphere / %1 4551
. IR 28 @AfE fAewer aca / 3few 2+flb mmers s @
% faemete @ / Tiren MeEE) Areveesn Mei faere | TR W/
O}457 AT 1 Igwed | wative wielia g @
(b) The distance between the sun and the earth reduces /
S O 7A@ e A 2P o /5 GR offRAR WG HE 2P o /
A 3 Srareii o SrYTsE) wnEEE 96/
¥ ayr et & 7 R g0 e R
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(c)

Red colour has high wavelength, so it travels longer distance
A1 38R SR @, o 3 At A vifFTe =W 9%%
&N T SRR o, iy, oft st gEcy S 7 EEEL
TN AR T wift, S A i e e

A T H TR o i B, v 7w A gh w9 e

The white light disperses into seven colours, only red
enters the atmosphere

M 3T BT 3¢ Rogaq €2 W 281 7B ASAS A A
Wwﬁwﬁmﬁ@ﬁsmmﬁmmﬁm@m 2T A
TR T A TERW TRERAE S s T | aRAveed g

w2 I W T R @ T 2, e o 1 4 e s
AR -

(d)

Which group of the following waste materials can be classified
as non-biodegradable?

To (P TREA (6T e SR (b e s 97 e
Mo @ ARETISRTE 1 SRt i 5 e 39 1@ 2

TeE AT 3nfy i FaAte eaen el v SR

fret o w1t ¥ Fre Wi ) -l T % 9 s W=
T 3

(a) Plant waste, used tea bags / fe7d SR, 4% 5157 TF @9
(tea bag) / Pferm waEHl, IRZS BIE (R 5 / ARE 3,
TETEAE WETH e = / aredi F i, W 9™ F s A

(b) Polythene bags, plastic toys / “f @, wfde= sfee /
ERgE e e, AR g / et 3, et o /
?@% ichfem & 3, wnfes % faey
(c) Used tea bags, paper straw / Jd29 5124 3¢ (9 (tea bag), ISR
T 2{f%7l [ AAFS S (=6 W, SIS 3 / AR W e w4,
@ran e g9 / g = % SR 9, S % 2R gy

(d) Old clothes, broken footwear / *@Il S, THI-fow|

(1~ (BLea | 2| 1T, (=-Fl ol-ee= / e R, fomm
TECHT YAT-H<e / IO H9, T2 V-
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6. Which of the following processes explains the extraction of
the sun’s energy to generate energy to light a bulb?
TR (T 2y e wr eregfere tagfes s A a2
Aea @ efernfs cieifea am erghre IR A B ?
%Tgrgﬁ Wi WEErEEn Al ufsh 9 S Wfem affy Faa
1= % 4 - vl dn 3= % g0 P aea & won @ ek @ 7
(a) Conversion of electric energy into solar energy /
g vE@WWW T Fomraa / Lages = (e CTerfere
m% ol / Mfeera wfwhiera wrf wfe i G /
B forgdta 3l 1 " At | EH
(b) Conversion of solar energy into electric energy /
O a1 Lagfes *few woima / e (e tagpfes xfecs
oA | AHIR RAT Sifers ieR dreram / d@n s #1
Fal B ETRT

(c) Conversion of solar energy into kinetic energy /
Cefea o1 afexfer Femes / e (U2 sifeofecs Fmed /
TR TRARHE ErdTe RAR Sera /d@ S &l S |
YT

(d) Conversion of kinetic energy into solar energy /
sifenfEa “fa1 GTafed 9o / sifefe (e CTefeTs Ford /
@ WiREREE weEi TRER drerEEr / TRs S 6 §R S |
YT

7. A concave lens has a focal length of 20 cm. What is the power

of the lens? ERE
wRwH (FE 93 ¥ I O 20 cm. R el [T 2 i@‘i&%
7% WA IR (P (i 20 cm. GBI TS 2
e S T S I ASUTE 20 cm A RIS SHEi?
freft srael T ) Wi g 20 cm 21 of A &P w0 R
L fa) —sdioptre/-sm’%m/—smv%m/—wm’w/—smafm
(b) —-0-05 dioptre /-0-05 ©r'%M@ /-0-05 gm«%ﬁ/
~0-05 TU'WR / -0-05 ST
() +0-05 dioptrc/+0-05¢1ﬂ’°%ﬁ/+0-05'\"51@1‘?31?/
+0-05 SRR / +0-05 SEI;TX

(d) +5dioptre/+5@m’v“sﬁ/+5mfu‘m/+sm'tzn/+5ma:‘fczt

B25-GS/517-C [ Contd.

e e e, ) e T T Y. 4t IR A T -l S — e — s o



8. An clectric bul

b is connected to a 200 V generator. The current
1

S 04 A. What is the power of the bulb?

M T A 200 V7 e Seo T GBA TS T I LR
HIRI N 04 A, b ey 2 337

T WRT @ @B 200 Vo fge SO TCH A AT
AR | A=A TR 04 Al wer ) 237

T MR AT 200 V R e < e i
0-4 A. 9=l Wl w iy

F1 T v 200 V & vy } waifm for man 21 Forga o =81 AW 0+4 A
HESEI R RS

(@) 100W (b) oow \(c) 80W (d 110W

o) #0!
Find the correct statement from the following. =

TS il STy o) s SRR S | Eee
b cre STz (2re wa Sl cm T |

TS T SreRimT 7 g g

B = 3 A wét w1 = By

(@) Ozone is not considered as poisonous and deadly gas.
T 93 R W TG o1 et 6 =y |
ST G AT @R TR 0m7 R a1 =1 =1 |
a’a’a@ﬁwﬁﬁaﬁﬁmmm%ﬂﬁwm|
SIEEEIRC LG R T SR R e—

(b) Ozone molecule is formed of three atoms of oxygen.
FofB1 wf¥rer *RmE 9'e'71 <1 w8 a1 9 |
fonfb wif3cac =y ecemm a5 1 0 |
AL AR TR ST T TR SR |
AT & i ] e 3isia % o o 1 e ) 3

(c) Ozone is the cause of skin cancer, ERE

=

oI5 Q@R I 2 I'H' | ®
BITER 46 (AR IR 20 ST |

fareR SFem sty smem s a1 )

AT =1 ¥ HAC H FRO R
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,(d) Oxygen and ozone both are used in respiration.
SIS W &S T -2 9GS 2 |
SR G ST TS - TS 7 |
RS M 37’7 W) wieriara e T
I 3 A A 1 rEn vaed g B

10. Which of the following is not based on solar energy?
TR 0O G wyife =y ¢
v FAM Mo e e (v
TR W™ wER wfEl fer g7
e 3 A - W I s w7
(@) Wind energy /3R *f& /I *f% /= 1feh / 9o el

. (b) Nuclear energy / Adm =f% / fAsdR #f& wft /
/ /ga'mr!rrﬁ i

(c) Geothermal energy / ?-ﬂﬁ[ﬁ‘f‘ & / \2-"1% & /
| G g e i
(d) Blogas/teﬁ (51 / 05 ST /ﬁrar&ﬁa/éa-ﬁa

11. Which of the following explams The use of dams?

o (! AT TR I A2

Neva @D FRRCER FRCE I TR 2

TR AR AEEARE! SEa ga?

i & & 9 =gl % IR F A0 F 87

(a) To replenish underground water resources
ISR A o o[ FRAA
T TR T3 A SRS FEE T
e & fif o a7

(b) To provide irrigation and” gencratc electricity
TABIYE IR I 1 [Qy1e Wnrﬂ f4ate
THABTT R T R e TeeAwm TR &
% SRATR e @A 3R i g
figaré o fargq Iemed & forg st Y gl
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i lly regions
(c) To provide steady supply of water 1n hilly reg

IR e fra sifvw o cats 4R
“I1 e fq sifdzs wee s CREWT &7
TSR e fir @A & S
vt sfwet A fop ify & 9 wga
(d) To provide water for conscrvation of forests
I STHIS A @IS trﬁatﬂ
IR FC AR (VIS (ST &
T G e 2 S
T e % oy e g
A metal rod PQ is placed in the magnetic field. The ends of the

rod are connected with a battery using wires. Where will the
rod move?

U WP 7S PQ @ (ITF (VIS M (R | YTEH F2 (W BT (JOAN
MﬂWﬂWMIWWW’ﬁEﬁW?
<Ff 4Igx 7o PO @l BiFe cwea T zAck | weby 12 o 99T WHAR
STC SICAS 91 TR, | el e §aca 2
R uigh @Rfy PO @ WA g, aivema eiaar et AR A B
A S PRI S| et A fm fifie?
Tt ot & & ©& uig A 53 PO # w1 1| BT % oFi R A AR ZW
T % F Wiy waifvra foran a1 o fo fam 3 il i
Magnetic field /(519% g /
O1Fe o5 | grad wiieEr / adhy &

"\‘) *H + Rod / %% / 7% / Wiy / 93

PI T 1°

i
(a) Upward/ﬁﬂmftﬂmfm‘ﬁ@/waﬁaﬂt
(b) Downward/'ﬂ%/%ﬁ@/mmj:ﬁﬁiﬁaﬁt
[c) Into the ﬁeld/mﬁﬁ@ﬁlﬁmfmfﬂﬁﬁ?ﬁ?ﬁm/

&7 % fim
(d) Out of the field / (a4 Wﬁ/mm/m%ﬁammw
&7 & W
B25-GS/517-C
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13. The magnetic ficld lines of solenoid are similar to the magnetic
field lines of bar magnet. Which diagram correctly shows the
solenoid as a bar magnet?

HEET GO mmmqammmwwwammlmﬂcﬁ
B2 BT QBT QT Hey FRCRCA IR 2

R CTCTACTR (BT Toical e 79 P (VA TP 0% 2|
@R el ciieemare o3l v pre R sfiFeia (i ?

wdrae AR g wi gE T iy g Ten g A s
7@ | 7T TR FaeTe A T ey g RFEmA?

Rrm e ) e A% Yard frd oe e R G a1 Xl &
M &7 F-w o afEien o o g i e?

S N N S
T 4 A O 0 ) T > —>
E<BUE DI U0 6 5N L O ¥ S G 4 N O W S
(@) \ (b)
y \
— |+ S — ¥+
S N N

© @

=
1. T

T

|
=1

14. Which of the following terms :does not represent electrical
power in a circuit?

o (CH! A e e Ao i 2

Sreva @R A capfes wwer fo o 12

Trerafy TR i wiferE e e gen?

frefrfaa § @ H-a1 9 T oy A foregg wf = Fefa 7@ e
(a) IR (b) V2/R () VI (d) IR?

15. The breakdown of pyruvate to give carbon dioxide, water and
energy takes place in .-

offzreh wq e Wmﬁﬁ,ﬁ e e Teom @ Rimd
TS = e
ARFTSE WY (Sre I SROERE, T AR «f5 Teom zem Rivwl

L) (R
mwmwmm,ammmmm
g
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T ¥ P A ap iy SRS, T@ T 9 2 & AT B
Bt R |

(8.] cytoplasm /msw /m‘mw /'{:[‘[52 Wm'!a fﬁﬁﬁﬁ F | 'ﬁ
(b) mitochondria /ﬂﬁ%’%@m@ / IO HACS [ HIRS Hfogama / ;
Ac)  chloroplast / #'2'#%S / AT /W’I’Wm | TRaATF §

(d) nucleus | RTTS | @W /ﬁafbﬁ'ﬁ?»ﬂa /ﬁﬁfﬁ i

Which of the following is &' plant hormone?

TS TEY I (FARY TR A e ?

A ‘Rﬂfﬁ@ @51:2 m@ EUiRa ﬁﬂ:f ?

WERERCEIC) ARE A

Frefafas # ¥ 9-w ey w0 %E?Un

() Insulin /% pRm /Trm [ Tfm / SgRm

(b) Cytokinin / 5Rb'FRF / SRR / W1 FEAA / HIEEHEHA
[e) Thyroxin / 3@ / AifEm / ot iR / amgtiteaa

(d) Oestrogen / S @AETE /\"'K_?ICEIW [ A | TR

Asexual reproduction takcéiiﬁiiacc through budding in
S 2T TR SHAGS 2

A AT TFEAE DS T

AR SR gFHer TN fRa g 27

(a) yeast /%S /%8 /3earE [ fie &

(b) amoeba / afiErs / fATS / WimmmE / anfian &

4c)  leishmania / GREARFRTS / ERvgEfwcs | Seadfamms | St #
(d) plasmodium / 21 TS / AreCAfeAC / o feamm /
18. The examples of homologoiﬁ:s ;i:ibrgan are
TR R SRITAR T
TP SO SRR A
T 3T IETER B

(a) potato and runners grass /T EF g ey /
mmamm}mmw@ﬁm;m@m%mm

16.

17.

B25-GS/517-C [ Contd.
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(b) our arm and a dog’s forcleg [ SWA A2 =¥ I3 el R [
Wm@ﬁzﬁmoﬁ/aﬁﬁmﬁﬂmﬁmﬁmaﬂﬁ/
7T 9 T R H S

(6 our teeth and an clephant’s tusk /P S % 7o TS /

; A ) BT TR
Wm@mmmﬁggﬁmmammﬁ%%

(d) All of the above / 8*Jd SB{ZFZ0! /@WW@ /Tﬁﬁﬁﬁmﬁ'&ﬁ/
I f

19. In evolutionary terms, we have more in common with

R 797 TFR (@01 TYRASIA HiTS ?
RS fie focw Nova @AM MUReTSRR SR e @ e SR ?
RSS! e 7T TWETEEE dre? Elngl
UMM/ M S M e W i@{g

(a) a Chinese schoolboy / «&= Bl =& &d /
| e ST 3 i W < e O

(b) a spider /@b %I / GFB TFE /AW S / T ARSI

(c) a chimpanzee /<b1 o=l / @3 fmon@t / wrd Ryegwtst /
w ferdsht

{d) a bacterium / 9B @R / <l / ad aafE [ o SfEry

20. The kidneys in human beings are a part of the system for

A 3@ o1 (P! TFT A7
T 39 o (I SCH W ?
Rt firen A T e sem?
T & g T 49 F1 M R, S FEiE

_{a) excretion / (357 / (S0 | R/ 3 |
(b) transportation / AR / = /T / afEed |
(c) nutrition / *fR7f2 / 7 / gFEwTE / e | -
(d) respiration /%7 /P | T [ & q

21. Our genetic footprints can be traced back to our
T e Siea 2R = wer e ERE
R T b (4T Sl SerT AR i‘f%ﬁ
Sify o smmfieE s wa@m gl i
7R ATARTH YEFIE! 1 9al § } el S gl e
(a) Asimroots/@%/uﬂﬁﬂ]{ﬁﬁ/@mﬁﬁ/m@

B25-GS/517-C [ Contd.
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(b) African roots / wi@Fm T7A / ST e/ %

1A
(c) European roots /2SzaIfrm A / m:;r?ﬂ%m Eﬁ(ﬁ /g T
(d) American roots / SI¥fRAZ T | A W{I/ﬁ‘ﬁ | <) T

What happens when the egg is not fertilized?
s w2’ Rrenoir & o @xm
s =z Reacener B =2 %%
foran Mt srmsen 1 w7
T B R, T 378 1 B 7 2
(a) Dies immediately / Bewee WR TW / SUFAR I IW /
@A e / T@ 9a B S 2
(b) Lives for about one day /am «fin &t SRES AT /
AR i & SRER A / 3 WEAT arEe 9 g
' T O o7 T Sfifaa @ R
(¢) Lives for about one week / 2m <igR &ifFe g T/
N @3 YR §ifYe waEm A /990 TEUR 9TEE o 9
T T HHTE A Sifad @l 3
(d) All of the above / ¢*R3 BRI / Tocaq SR /
M TéE / 3o ot
In human beings, the normal systolic pressure is about
T2 v aet B8 5erR T om EIRE
AR @ AR Preefes seer s am &
TR AT wUETE 949 Temnh fere wm
T H AR W < T 9 a 27
(@) 120 mm of Hg /“R&8e 120 mm / “REE 120 mm /

A 120 mm /910 1 &9 120 mm
(b) 100 mm of Hg /“K@¥S 100 mm / 4&m@E 100 mm /

T 100 mm /YW 1 &9 100 mm
(¢) 90 mm of Hg/“RI@Fe 90 mm / *Ames 90 mm /

9E™ 90 mm / YRY %1 &7 90 mm
(d) 105 mm of Hg/“R@ES 105 mm / R 105 mm/

e 105 mm /91 %1 @997 105 mm

[ Contd.
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24. The wings of a bat and the wings of a bird are

AE E AT (ST TA ERE

AR @R 1 T = %’%ﬁ

TR 3R TRA M@ S

IINEE & UG 3R vef % ug §

(@) homologous organs / ¥PiE W2l / PIE 9% / wE@ ¥/ :
quSTa A1
(b) analogous organs />Jfas =ge / IWFaT =% [wea s/

qasq A1
(c) invertcbrate /Sue8) / Srwew @) / REflify / srFdeh
(d) hormone /SERA M /AN FN oM< / THA / THA

25. In evolutionary terms, which among the following has better
body design?

O (P eEed G ored ron Rade frre Tweaa 2

TR T gET fEt 2 e wieeEi e e g st ?
T % SuR W, = 7 @ Frwam it stfiere 3aw 27

(a) Bacteria / (AC3f[ / acEfam / safanfy / ey

(b) Spider /TR / AFTTR /S [ A6

(c) Fish /&3 /Wiced /A1 / weedt

(d) Chimpanzee / =183 / FendR / feamfaf / fsh

26. Flowers of hibiscus, mastard, etc., contain both stamens and
carpels. Therefore, they are
w, wifii, FEEARS YR F FPE TAD WHR ACF, G
9
w1, S, TN, Fealie AR ¢t Beer 1t e aiee, o esfd
Sal, AW aER FEREE el @E dR e @R A ST o,
TGEAT 4R
%méu@wﬁgﬁﬁﬁmﬁmmaﬁm@a%%nmﬁ

. ERE

(a) unisexual / @I / @I / Famei / Chferft g‘%
(b) bisexual / TeufeRA / Teafer /A andR / it
fc) grafting / (a1 T / (SIS F= / G €HE / Fe
(d) fragmentation /RSt / vem / G@I<) WIAHAE / TS

B25-GS/517-C [ Contd.
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27.  Fey03 +2Al - Al,O5 + 2F¢ ction?
: reac
The above reaction is an example of which typc O

&1 RIFID! com e Rt b1 THaet 2 Q%%
SoiaR R o erom Rt ool Toed? Rk
Mt Rernermeen m A Renamf A fRE?
SR A T st frg waw 6 2
(a) Displacement reaction [ LR e fé:;‘;”;c} ﬁﬁm{ / Tt
(b) Combination reaction /A R m f@m / e
{c) Decomposition reaction / fazargm ﬁf;m Rfert i{f <
Double displacement reaction / fa-S°piad ff&w /

fR-wepime Rfew / AeH STErETE s /

fafaeamas arfufsrn

Which of the following compounds is used in soda-acid fire
extinguisher?

T (@O (5F = T-<fXs o B 15 R 54 2 2
A @ AWM G- s fdiel T2z 92 391 202

AR 7R WiEr ®'1-ufie o) deren g AR Sme
ﬁnﬁﬁ%aﬁﬁamz@n@@—mmﬁm%mm%?
(@) NH4Cl  (b) Na,CO; (c) NaCl

28,

(d-) NHHCC)g
29. Chemical reaction is not involved in

e Rfem s EEE

ATl e <26 = %%.}

TR Tz smn

T afifma w8 &

(@) burning of candle / T =M / ERITS Torrs /

R WO /e 6 ser 3
(b) melting of candle /TS 5= / crgarfs SECS |

YRS e/ e % R #
(c) digestion of food /41T 254 (2T / 4 zey S /

ST R T /v ¥ e
(d) respiration /PTRS /T / BRI / veq i
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30. The pH of a neutral solution is
<b1 2P TR pH A WH 33
a3 2P WA pH-a7 WA T3 ¢
AA 78 feremaf pH R T e
Tt o e e pH R
(@ S b 6 0 (¢ 7 (d) 8
31. When dilute sulphuric acid is added to a solid X, a gas Y is

formed along with the formation of salt of the solid. What could
be Xand Y?

@ 7Y weReRe ok o1 o X3 wre Reem ®, 9@ or Y,
(IBIER 3 571 Ao eom W | «rrwae X W Y3 R et Reasen #
3’37?

T 7Y TEARCRE SIS @3 W X -1 w e =, @@l o Y,
T3 TR TR % B T | @l (W X G Y-3 & w0 R
A AQ?

STl ST WS TR WA T X S TermaaE S, WA Y nen
whaf T B | 3 TTEE XA Y@ A SR g A

& frt St wad X % @ o e v A e ST R, @ 3w X P
T F A OF N Y Iiia ad g X 3R Y 8 wehd 87

(@) X : hydrochloric ac1du,—jY : hydrogen

. RE’s e ufes; Y_‘m’@ﬂ

. FEFIRE OTE; Y : FRGLEA

. greg 7 T wfire; Y wISg S

. TRSITARE 3T Y : TR

. sodium hydroxide; Y : hydrogen

: % o 2R wEs; ¥ ARG T

. 9T TEg FIES; ¥ EEg oM

: hydrochloric ac1d;1Y : carbon dioxide

YA Re ofXT; ¥ ;A ORI

. RIS ST Yo T SRS

. g 7 R qfirs; ¥ e STRITIES

| ERSIAAIN 3T Y : e SRATIAES

(b)

(€)

e T T T T T T e T
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33.
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(d) X : sodium hydroxide; y : carbon dioxide
X : 2oy kg wite, y : T RIS
X ; GTfwm ofegsEs; Y« T ORI
X : 'feam wregFaee; Y ; HEA SRITHIES
X : Oiftam grguRe; Y @ HE SRS

How is sodium carbonate obtained from baking soda?

GRR B'TR @1 R R I @ o AR ?
QR o (s ofeam FREH e onew A ?

A% 7' v’ fem e TEk A g
afm e ¥ $ Dfvm FERe 1w A I 87

(a) By heating baking soda / R 'SR 7 I /
@@‘immm/%ﬁm’a@wﬁ/%ﬁn@maﬁwﬁm

(b) By adding water to baking soda / @f¥ ¥ M iz /
L3 &R oTes v R / 3fF 's@mE @ fream
affe a1 & Sa F e

(€) By reézijhg baking soda with acid / @R} ®R'TF «f&es #sre
fafem 3R 7 @f crere wficer sier [ 3@ /3fF s
ufrest fream @emEn /A6 dre i e i afifEn 3

(d) By reacting baking soda with base / @R BT 5197 F5@
fafeem 3 / iR crews =i s Rfem w0 /30 g’ ardst
TerremeTs @AM / S | ik s Y sffEm @

4Fe (s)+ 305 (g) —

Which option: of the following shows the compound formed
during the-above reaction?

@od (WL R AP RiEhr st A Teetfire Qo R 2
Tewr @i sl apmi Riana swem Seofre @ors wiy
T T et TR R w R i R
firet & } H- R stiifr T 3w A

& 4FeO3(s) (b) 12FeO(s (o) 3Feq0y(s) (d) 2Fe,03(9
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34. Nettle is a herbaceous plant that grows in the wild. Its leaves
have stinging hairs which cause painful stings when touched
accidentally. This is duc to the secretion of
(ORT® I Iz «afdy NEEn BT ) 3yE emeraEe B A |
ToRSE pre o g Ren W oo 383 R~ 20 1 2 A
2'H VAR [ Respe @@ ()

Ref® 37 e aem S U 1 ar reafis T A F1 ACE |
ToTRee: oft ¥ fie @7 Taf fuyam 3 v 383 - 2 |
R FRT L =3 (e Reope zew
T faaren et & S et W@ gmEE w3 ReE g e
W TW@E ISR gEA T W @FE AA A SeE e
GURRASE JO™ TR
W@W@%,?ﬁﬁﬂ?ﬁﬁmﬁlﬁqﬁﬁéﬂmwﬁ%ﬁh
IR TR A g S, A S FE1 @ A 21 Tg Fhed 9 B 3 HROT e 87
(a) hydrochloric acid /ZE'# [T aits / FRIFRE SHTS /

TR R wfire / T 3T
(b) methanoic acid / YR &f%s / frars s /

_; TR e / ATES a1
() lactic acid / FRBF &S /T TS / Rl s /

g’ Afaes 3na

(@) citric acid / ¥ ofts / RIS / TR RS /e ar

35. Food cans are coated with tin and not with zinc because
TR S4% I AEcare 67 acaet 2w, e =, TR IR
AR ©CA A “Eefce BeR 2@ Gem =, fike-ag W, 93 IR
ST AT G A ArserE Raf fremma s, FElR T, 9f s
ara gard % fesdl @ fiw it awma A @ A A @, it
(a) zinc is more reactive than tin | foi fomrets wite wifer /

fress o1 (e wfeg wfen / Rispan fafgs saire wmm /
“ o o onen e arfven srfrfrareier 2
(b) zinc is less reactive than tin / foz fomrete o >R /

Reca o1 colca 7 wtfarn / Foepan Rafiegs @m wmi /
L o ) anen o o arfviranefia R

(c) zinc is costlier than tin / forots e WAl / o (xe e wd /
foafags forepan 3@ 7w / 7 A angn fork wdm 2
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(d) zinc has a higher melting point than tin A EREI: forrets
@R/ R s oo e @ / Fofy e fren
fafrgs =iftm /R A sne for F1 TAAF A 2

24 carat pure gold is very soft. Therefore, it is not suitable for
making jewellery, To make it harder (22 carat gold), it is alloyed
with 2 parts of )

24 @0 ROF G W @ o e G R G
SRS | T B IR (22 @6 @) 2 O A 41 24|

24 LD BT G @ i 1 @t | o7 s CTAR 12 2

PR | G e Tam T (22 D GF) 2 O e
= =

24 ¥ M T AR R SEE A g T TEEEE @Y S
@ TR WA 2 7R (22 W T) TR @A S

. 24 FE gg 9 wh o v ¥ wi s e R F e 9 3T @

B R 1T RN (22 ¥ A T ¥ fog, 2 v = frawn S g?
(a) silver or copper /fézrem a1 3o i /%o @1 o fiw /
- SRR T T g /S @
(b) coppcrortin/$Wﬁ1$ﬂﬁ/§jﬂiﬂﬁﬂﬁfﬂ/w@ﬁ?@qﬁ/
& e
(c) silver or zinc /feFeR @ ﬁi?ﬂ‘_ﬁ/ Fon a1 s fwew /
¢ Ty e e e /=T @ s
(d) copper or aluminium /3R A RN 7 / o A1 SWEREEE
fen / am e egffam e / dten @ Ygfitem

Non-metals do not displace hydrogen from dilute acids. They
react with hydrogen to form

Y GfRTR o[ P PG AR IR TR ) 2R ST
#5re Rferm 3k Beom 33 R

7Y wWPeeA (e Sy e cafEle Fwe omw i aqf
FRegcee xR w0 Tem -

fpremreTs wrem B o

g el 3 WA Ry T
auTgd E@w e | 9 TRSSA ¥ W

(a) oxidcs/“l’ﬂfi@/m/mﬁéjmﬁ
(b) hydrides / Z%GXE / 2T / TEHS / TR

B25-GS/517-C
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(c) carbonates / FHED / FHEG / F¥z | TR
(d) water /%R /57 /2 /5

38. While cooking if the bottom of the vessel is getting blackened
on the outside, it means that

oS0
THR ST RS IR TAFNA (AFS) ') oiea, e *@’gg
TR SN IRZTS I AN FfA ofcs, IR
A S0 T AR a9 6 e e A weh 9 @ 2, @ za qaeE & 6

(@) the fuel is wet /2@ & /Tl e / semmn fift /
9 o2 B

(b) the food is not cooked completely / ¥ SeweE FfiEE /
- A S 4 Brm A e / e e ge A /
IeH I8 T TE 9 2

(c) the fuel is not burned completely / ?ﬂﬂtﬁlﬁ“ﬂm"lwm /

TG Y] e T A [ ST A W /
| $9 T8 e ¥ T8 9d W R

(d) the fuel is burned completely / Z&HI AT 72 o /
oh A0 Tl 9fSIC T2 =Y [ ST S @ESEe] /
%,ﬁ;}j ERER (GRS C R R S

39. By considering their position in the periodic table, which one of
the following elements would you expect to have maximum
metallic characteristic?

qreadd 2’3 3 SEm 7 o 2

fige eferre g9 R s Tica (mskE @R R e @@
44T 2L 90 SHIA TN (A0S 7MIA 2

AFATOR 4@ aREE FERA e g e R Jareri SRE A
Fifya urgenit amgar; &7

arad gt # 3 TWH F YR w3 A R o 8wl afts wifes
Aiirergrr i fagaar 87

(a) Ga (b) Ge (c) As (d) Se

B25-GS/517-C [ Contd.



40,

4]1.

( 20 )

Boron is a non-metal and is placed under group 13 apd
period 2 of the periodic table. How can boron form bonds with
other elements?

'3 1 T W N7 SRR 7'9 B 2 - 13 S -2, (908
VI @A @A A OTS IR S19% 94 7

AR @7l Sg @ T wEETe @R Tz -13 6R
R-2. OReA @A R S (e 1w qm S 9 ?

TN AR U1y A I R oo A ST S - 13
M -2, I A3 A& T s wve dmfer?
ng%w% e wwoft % wg- 13 o amed-2 # fém 31 A
I

& WY A S A
(@) By sharing 5 electrons / 501 TERGTa ©15[-3eq] B4 /
Qhgl0 515 ¥l 3% AR / W 5 T TR /
B 5 gAFZAl 1 q2AW FH
(b) By sharing 3 electrons / 351 Xaes -T2 3f4 /
36 XAGR A% 7R /99 3 oA AR /
3 3AFAT I SN FH
() By sharing 2 electrons / 251 =G Sis1-3wa1 IR /
‘ 2% WeTEem 39 A / A 2 Tove T /

2 T I AR T

(d) By sharing 1 electron / 151 35 SI9-qeq FR /
1f6 23R 3% wiw1 / A 1 3olagd THeEAM /
1 SEEH =1 d2am w1

What is the trend of valency along the periods in the modern
periodic table?

EIRAE

YT s e *RfEa fiet @reren e 5 o %ﬁ

o Rfiqe SIS “fiem fie cerer e 9 2

M AR @ 1A AR areeunshy foma sl it me

Ay Ed arelt § Eal # v gy w3

(a) Itincreases from left to right/‘{mémaqwcﬁwquﬂf@q/
ot s (o ST T / A sffafigm s =i /

¥E W1¢ A o1 3N T R
(b) It decreases from right to left /3 GTeREN o[ T R/

afﬁwﬁﬂwwﬁ‘wm/‘ﬁ meTafwE sfyfimm
Wi /278 7 @ a1 3R e

B25-GS/517-C
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(€) It increases and then decreases /% afta oI fPrze W_/
ERE 9 ISCT @R *ca T /A @i 3 T @ /
%&3 Tz ge) wad & fr et @

{d) It decreases and then increascs /% Ffia w7 e W./
<fb TN Q3R *1A AT /A @i S T A /
TR Ted uzdt & ot Fedt @

42. A student conducts an activity using a concave mirror with
focal length of 10 cm. He places an object 15 cm from the

mirror. Where is the image likely to form?

SO TR 10 cm ¥R (R SR TATA Bl Sem 0z | (B Dy
T AT *[/1 15 om [{eS e, 2R 7S o 27 o1 ?
9T RG 10 cm (@R 00dR @b TRee wofd) wal Sepe $aeg | O
o =TI %ol (XeF 15 om ATy A 1 2AfeRA @R 15 2 AR ?

TR SOEEHET 10cmmmmmm1ﬁ#&wﬁmﬁl

@ A g AR 15 em SFURaE wREE, wade W
amRE gEi?

T formmrefi 10 cm wiFa g % et saet <o 1 s w0 o e w

Tl &1 I TF did F g0 A 15 cm g0 w @) vhifam 6 Rl e
whd! 87

(a) At 6 cm behind the mirror /¥*1R P=¥@R 6 cm e /

EIRE woffd *PBIC® 6 cm AT / AN FH 6 cm R /
’[‘g‘\%ﬁﬁ ' TNF B 6 cm ™

(b) At 30 cm behind the mirror / 7RA1NR fre@eR 30 cm &Y /

wofafbq TS 30 cm Y / IETH Y 30 cm TRYEEE /
T % 918 30 cm W

(c) At 6 cm in front of the mirror /A9 43 6 cm &S /
woafod LY 6 cm YAE / 3T R 6 cm SHYRAE /
U F WA 6 cm W

(d) At 30 cmin front of the mirror /WAL 30 cm ATS /
wofaf4 ST 30 cm g / AN RomeT 30 cm WHYUTRAE /
240 & ¥ 30 cm W
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rson went for a medical

43. Identify the defect of vision of a pe ture of his eye lens is

checkup and found that the curva

increasing,. . @A OTa Bk
G5 (IR 7] ~ArwT SIS oW o A7 (1 (99 5T

2P txe | 59 ReE 7’7
T m?ﬁmmmmﬁﬁﬂmm’m“” b

IPIY oA 2o | (oA w2

R gy mmmﬁmwﬁﬁﬁwmé@
TS T A | A TR i ‘.

Wwﬁsﬁw-qﬂmﬁwmﬁwﬂﬁﬁﬁm%ﬁqﬁm

93 W 8, @l = < qm o) Z0

(a) Myopia /¥’ /W /@i garg / Frere-gf2 29 ’@%ﬁ
(b) Cataract / @T5cas / FbwIE / Hexae / AT
{c) Presbyopia / corean’P / o / Sreara fian / -3

(d) Hypermetropia / 22RCG /1 / ZRARCICGIPE / T %‘T— E,_/ﬁZ .

44. A person cannot see objects clearly kept beyond 2 m. This
defect can be corrected by using a lens of power

GO (AT @51 T8 2 m T [ 8 ARG SFRCA 7 AW | 5FI 2
fRre ir2fem #few AR TR e IRTR IR AR

GFG (FIF @0 ¥ 2 m I THI WA ST (FATS O A | (BT
2 7 21 @f6 R T T (FOR WS I IS A

A Fge1 A8 SqEd 2 m 1 TResf st aiftgdea G @ 2
FAM o TR 71 e 9TEE S e SREA e

1 0 2 m ¥ 3w g |l awgeit F g 1@ T
gﬁ%%qméaﬁmmmqgn? e F| Y

@ -05D (b)) +05D (0 -02D  (d) +02D

45. Studying Ohm’s law (V =IR), a student prepared the

following
table :

V (in volt) 04 0-8 1:2 Y gﬁ
I (in ampere) | 01 0-2 x 05 (=

The respective value of X and Y will be
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|V [#0) 04 | o8 | 12 | v
I(frm) | o1 [ 02 | x | o5
SRS X @R V-1 YW 2@ a7y

R @R (v = =IR) 11 WudmR v aR wrEm e g R
fﬁm&@mﬁr

V (¥ee) 04 [:08 | 12 Y
I (vffRm) 0-1 "02 X 05

& AEEE X 3 Yﬁmwwﬂq

aﬂq%ﬁm(v=m)mmm@s}:ﬁmﬁmﬁ%ﬁmwaﬁw
m: = F

V (arz #) 04 | 08 | 12 Y
I (Tfee #) 01 | 02 X | o5

ROl & X 3R Y 1 AH @ _
(@) 0-3 and 2/03W2/03 um\2/03 I 2/0:3 3k 2

(b) 01 and 04/01%1@04/01%04/013111’104;
01 3R 04

() 03 and 1:6/0-3 wI* 16/03 3R 16 /03 IM 16/
_ 0:3 3R 16

(d 04 and 1'8/04 9% 1'8/04 9 1:8 /04 3 1:8/
04 3R 1-8
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SECTION—B | %] / 1 / @—Tert [ @—m

o3 tances
46. Identify the substances that arc oxidized and the subs 1+1=2

that arc reduced in the following reactions : |
o RS S W A o e A S

w1 Rimiahics wite i Refre zeu meE e T - iy
e R AR fREAE ga 2 AR el -
Rt srffnait 3 sqafi qon s e ) geEE I

(@) 4Na(s)+ Oy (g) — 2Nay0(s) -
(b) CuO(s)+Hy (g) = Cu(s)+ HyO ()

47. Balance the following chemical equations : 1+1+1=3

O AT ARG, TEe 0 -

ANHR AP SRR o I

MEAA THRATR fFsnamseie qarg @
1 et wil @ wgfe fif -

(a) BaCly + HySO4 — BaSOjy:+HCl

(b) NaCl+ AgNOj3 — AgCl+NaNO3

() HNOj +Ca (OH), — Ca (NO3), + Hp0

i

48. How is the concentration of (@)-hydronium ions (H30") affected
when a solution of an acid s diluted and (b) hydroxide ions
(OH") affected when excess base is dissolved in a solution of
sodium hydroxide? | 1+1=2
(a) T T WA (H30™) T -5meel e «1f¥afée 2'q cafenn oot «fkes @@
gPe $41 23 AF (b) AT ATS WA (OH )T alwel fa «ifRafés '3
e 2o 2fRg HiRed 43e UfiT F1 udige 41 2°7 2
(a) TEEHEE WA (H307)-99 el Rer +[{<fés 3@ = a3
SPTCed 799 YFS F41 A GR (b) 2XTIRT WrH (OH ™ )-9q 5y fFsra
ffafEe Za 74m TR 2GR 74 ST TR wvs 91 21 2
TR JEfe Tem Eree), Sel-(a) weh ’Tf%laﬁét CRICRCISIEIES
Ty Fram s (H30") R 9m (b) wieam ey 'soref nitvemams =iz
wred) e geg FEe A (OH ™) 7
qiza %@ wfd € R, S (o) 70 F e B wggm W e
ARA (H30™) A 3 (b) Mfsam Tgianss foemm & st ame fem £,
@ grggiaans A (OH ™) Hi?
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49. F]:esh milklohas a pH of 6. How do you think that the pH will
change as it turns into curd? Explain. 2

mWWPH“WG;Emﬁmq’mpHmmﬁﬁ,m

90

IO W pH @3 YW 6; «fp m-@'ﬁﬁwmpﬁmoﬁaﬁ‘s@m,

TR A1 |

WW&PHWW&%!?IWJWW@WMWWW.

Jq@T|

mi“*pHmmsﬁm%lzamaﬁmm%pH%mﬁ%%

TR A 3 F41 W@ E, g

50. What is a neutralization reaction?

21 T s 2 2 w1 Tt fo
2 TR R 2 R oS Twrmer e |

Give two examples, 1+2=3

R ST e me A et AR )

wma&mw%?amﬂm

51. Show the formation of Nagéfgnd MgO by the transfer of

electrons.

Ww«ﬁﬁmmgowzﬁgoamﬁm

1+]1=2

G FAIEA T4 Na O 93k Mg0 & 1 (el |
TATZABRA FTRRERATEST Na,O 3R MgO i dmfmma &)
TOEAT % TAMTR0 % ERT NaoO 31 MgO =1 Fmiv gwiizu)

52. What is meant by power of accommodation of the eye?

533 Topares el e & e 2
(OTAR TACTEH Fe] 3976 T @R 2
T TR el gete W gl
) we o @ b R

53. Name two sources of direct curren
2T 24174 Y1 o A ey
2T 2RI o T A @A
e urr % <1 @t & A faflag)

B25-GS/517
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Name two cnergy sources that you would consider to be
renewable. Give one reason for your choice.

@Wmmﬁﬁmwﬁﬂ@wﬁmﬁwmwaﬁ
IRY Ol | .
(oA SRR A oA e A e e AW T | COR
LM I FIAY (TS |

mwﬁ@ﬁmmﬁwgﬁuﬁﬁm’mﬁ
|

W A et Gt T Fofay i o el e #) e s
T e At

A student has difficulty in reading the blackboard while sitting
in the last row. What could be the defect the student 1s
suffering from? How can it be corrected? 1+1=2

W GO (T (S R I (TS SR © | RIeee col R
R 27 #1123 7 T S @A 2 oif 2

O MRCe T T I WRCAIER (4] 1% Sy 2 | Wb (P
SRR {8 (RICY Po1eR 7 iR ¢ 1o fFowa e 1 AW 2
wq{mmﬁmmmm?mmmm?
+ifem 96 § 43 Prel Frenedf =) v T § SR O 21 @ el e
ot < & ifea 27 W FFe WA At fRn s geRa 87

The potential difference between the terminals of an electric
heater is 60 V, when it draws a current of 4 A from the source.
What current will the heater draw if the potential difference is
increased to 120 V? 2

451 tafew RO 1R o RSarsn 60 V W % BOR o[ 4 A 81 SR
A | fAsaren 1zovmw@@@ﬁwma’m

ol tapes fEHRAR 1 e REWe 60 V @ik aft Bt (0T 4 A oR1Z
w123 ¥ | fwaren 120 V orfe aena 25l v oz w2

A R S Seen WA FEREE 4 A AifRE TEw) [

e AfeER e Ha @A aranty s 60VW|%@$
FrrTel 120 V Rt a8 i e MRl gt S¥e fifwe
21ER &A1 AT Y

va #1§ g i, fegg 9 3 4 A Fre v o 2, T Ed e & g
fvaia 60 V 2| 38 @A e di T ) :
120 V 7% g1 fan smem? g, w3, 3 i A
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§7. (a) Explain why the sun appears reddish early in the morning. 1%z

S8.

B25-GS/517

TSR St e w2 e 1 )i é10
ST S Aol o e 2 ) et | *@’gﬁ
FR Rl s e we smm e A
@@*W@muaﬁmﬁmé?m@m?ﬁml

(b) Draw the ray diagram to show the dispersion of white light
by a glass prism.
02 fRrerTR I A9 cotre Rogat e caen o e 3
P15 TEre BTN S TR Rogeel (e & cre fo wen <A |
A s T Wi S RFEE e ek st
HE % firew g0 wa vew F Rt @ Yar-Re )

Several electric bulbs, designed to be used on a 220 V electric
supply line, are rated 10 W. How many bulbs can be connected
In parallel with each other across the two wires of 220 V line if
the maximum allowable current is 5 A?

I [T I™ 220 V ARHS €I WA (OUR T4 (R TE
10 W @ fofEe 41 tziz | 3 oiffr® T ST 2R 5 A T, (SR
TA=01 A STEAETSE 220 V AT 151 $191 TS FAel I AR 2

TeeelE AP ™ 220 V ARG IRAER T (SA I TR R
10 W ¢ fofsse 331 = | 1f ifere 2ea1 ST 2712 5 A =W, ©I%E Foi
qF ARSI 220 V 1R 46 ©ICTd S0k 1) $40S 23 7

220 V fa #ifee s @A SRR SERAE e "Seswa 10 W)
220V @AM 3 ARE MEeTE o e aeadt wEeEA e g
FTGAYR Aifeeta ER ATEAE 5 A S

220 V & faeq &g ® Iwam fey M Gt 9gd @ Fest # gEaE 10 W
%lwﬁzzovmaﬂu%qamﬁmﬁgam 5AR, T 3H AR A AR
¥ 919 fraa gc9 qvdn # gafSa fohe s e 27 @ﬁ

Or / 71291 / 9971 / &t / ear g

Explain / @141 941 / 20145 31 / e for / avit fHifs 1%+1%=3

(@) Why is tungsten used almost exclusively for filament of
electric lamps?

(apfes vIfFe (e Diedem fretiers R areee = 2
tagfes afere @fmrere BB fFanaTs @ 392 20 2
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et A wifd zfeafy Rrcmive THY ATEEAE FPN7
ﬁm;’rmwagaﬁﬁnwmmﬁmmﬁ“ﬁmﬁm
ST ©Y

(b)  Why are copper and aluminium wires usually employed
for electricity transmission?

ERE

lff: WWmmmmmwmﬁﬂmWﬁﬂww
7
(ST SRR &0 AT S| o) SERET ©F @ A2
W2
T 2R B aram e F A TghiEEt aE
A AR FRN?
ﬁm%f;ﬂm%%qmmamt@—mﬁmmﬁmmﬁm
ST R

S9. Why should we conserve forests and wildlife? Give three
reasons. -

TR AT W Ry ey wRa wes 2 ff et
T @R IR @ AT Fewwa) 41 S 2 fenfd wmwel ms |
S A BT ST g T Wty g, deem sren 8l
B 9 TH 931 SfiaH T 1 A e, 9 FROT F@qr5e)

Or / &7 / 9% / war / sream

Explain sustainable development to conserve natural

resources. I;% [s]
AFEF MM FEFR (FqS IZ74 SR IR T4 | *@%ﬁ
AFIEF S2[% FFH(IA CFCA T2 SR WM I |
Ffermrat geaef Srafaf Somm e SAE Sgesy fw)
TIHfas FEIEl & HEw % o waa fowm @ v At

60. What is biological catalyst? Which enzyme is contained by the
saliva secreted by the salivary gland of humans? 1+1=2

te st 2 TeEa =t afecy R 341 wEbs & Sarne aes o
teR wedhe A 2 T Al A wk R T AEs & w4 2
feraeft e m? AHRHE g2 e fl tm g e o
v S seh w0 R AAE A 9 R Al e m oo § e
H3-70Re Tl 8
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Or / 5%t / G931 / war / ierat
the differences between blood and lymph.
COST W1 FIR e ofiefapmgg B 1 ERE
TS IR AR T et @ ) ;%gﬁ
A 3 R Ay wromE) o
TR Ao el ¥ AW oy )

Give

61. Nam_e two growth promoting hormones in plants and state their
specific functions. Vot Vot Vot V2=2

SR TRY Crefaae T W ) W Gl e o % 4 |

ST YR 2R (AR TG AW (el € Glafi e I 7%
IR

SRR HH HieR aRre §oRH g for o) 3eri 3 @t 7@ |
Ted & g ) dgn A A wiH F AW Rty qon 3 T H) oA AR
Or / W%l / 91 / Tar / S9an
Define a reflex arc. 2
oolof goR gzl firl |
AN 4R e WS |
TH FEGAA SR g &
Yieadi =g < gt s

62. What happens when adrenaline is secreted into our blood? 2
WA (&S gt e wite & 22 %‘%ﬁ |
YRR T SWGRTE APRI SE A we i
i Soma TR il ma Sevdeen m Smr?
1 g e # wa dl 2, T R R e A a7
Or / %3 / 9t / Gar / srean
Why are some of the patients of diabetes treated by giving
insulin injections?
oy g OIAATs (A TRerE (a8 fit v w2
@I (I O QIS TPl T o (1 et w1 = 2
A @R At i Fgiemt af S wremaT B9 EremEr S
qyie ¥ Fo A A fafre gl &1 FEE 2w R A 8
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63. What is transpiration? How does it help in the absorption and
upward movement of water, minerals, ctc., from the root to t?f2=3
lcaves of a plant?

A 2 % Rz o, e 7, Wi, R o aoE TR el
O S SRR oif wrs 1S 72w I 2

A R 2 s R o2 v, A A T, BT (20F seed e 7
CTRE G2 SR oIS S AT W I 7

S TF IR M7 3w 8, @hai w@ha, amR daiwe w@ R
faesfim Hraaim 3m) T B TEE S w6 @ ?

AT 1 27 TR W F o@nw wd gdl f 98 ¥ o @ 9 an
Qi T % Iufget iy # 4w w27 Ohig10)

Or / 71& / 9l / var / 1t o} 727

Draw a neat labelled diagram of the longitudinal section of the
human heart and show the path of the flow of blood through it
with the arrow marks. Mention the role of the valves present in

the system. 2+1=3
T3 T @b 3R ffee trfrein o i s e B 7@ =E
T 2AZS (Tor offSery (F4SaN | TS 41 FoMBCIaa I BTad 40 |
TR T 9 g ffrs ey fa i g3z fofe Bz a7

T ey oRIfRS T ooy e | Sabe A/ I aRE I 3EY |
At iR AR e - R wen R e aETr sy

I P Al ¥wemEE AR Se AR AN @rem ammr BRE

frarm JrE weweRt i) T’
mm%uﬁdmmwwﬁﬁﬁﬁaww?ﬁt%ﬁmmwv
%nﬁwﬁmlmﬁﬁwﬁwmﬁﬁ%wﬁaﬁm| EINGE

B0 o
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64. What are sporangia? Are they involved in the reproduction of

any organisms? What do they contain that eventually can
develop into a new individual? 1+1+1=3
AN A =AEGCAR 5 &2 @I 8 o o R wfve o
! g Elaq Rorm @ @2 @A & 327 3@ 2

~Rgme N N2 @A S ewer T wshi R wfe o b T
& Rerem & @2 AqeRief (Padheh) § 7 w0

BT B 311 17 et Rrafy st 90 W T e S e
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T T 87 70 A et st % e A it 87 3 e e A 3, R
A O T St famwfia 9 g 87

Or/W/WW/w/amar

What is variation? How does sexual reproduction give rise to
more viable variations than asexual reproduction? Why is it

beneficial to the species but not necessarily for the 1nd1v1dua1?1 e
1+1+

o B2 o eewels cirm sEE TA e S e
ﬁa-mmﬁﬁmvﬁmﬁmﬁamww%mw
AR BFY T B2

forer N7 W do W Q@ AW JEE TE Site SR e
SR-omfen Rrera R o @3 awfe wo Rrem e 78 o9
QIR T Sy T @2 e
WEm 71? e e SeRAEiigy eER ST Rl
YAR AEWE R T Tt amk? wien SEeR araE JEmt e
T N PEf aram i s A
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